
j8f g+= !) sf ljljw of]hgf tyf ljlgof]lht ah]6 cf= j= @)&$/&% 

lzif{s of]hgfsf] ljj/0f ljlgof]lht ah]6 s}lkmot 

ef}lts 

k'jfwf{/ 

ljsf; 

;DaGwL 

. 

s= afu]Zj/L P]s]l8dL b]vL aGbfgx/ ;Dd 

kSsL gfnf lgdf0f{ ug{ .  

        
500,000  

uf}/jsf] of]hgfdf 

;dfj]z ug{ ;lsg] 

v= Pstfgu/ d'n af6f ;lxt leqL 

af6f]df  u|fa]n ;lxt gfnf lgdf{0f ug{ . 300,000  
  

u= xfO{j]b]lv k'j{ /fdgu/ lzj dlGb/ ;Dd 

sl/a &)) ld=af6f] sfnf]kq] ug{ .                 -    
;f+;b ljsf; sf]if 

3= sflnsfgu/sf] /fdhfgsL b]vL ;'Gb/ 

6f]n ;Ddsf] af6f] u|fa]n ug{ .  

        
200,000    

ª= /fdgu/sf] u0f]z a'9fyf]sL sf] 3/ b]vL 

k'j{ sl/a &))ld= af6f] u|fa]n ug{ . 

        
300,000    

r= Pstfgu/sf] z]/ a=/fjtsf] 3/ b]vL 

blIf0f sl/a #))ld= af6f] u|fa]n ug{ . 
        

200,000    
5=dGgfk'/sf] sl/a &))ld af6f] uf|a]n ug{ 

.  

       
400,000    

h= sflnsfgu/ u'Gh]Zj/L sf] 3/ b]lv k'j{ 

sl/a %)ld lk=lk=l;= ;lxt !%) ld af6f] 

u|fa]n ug{ . 

        
200,000  

  
em= ljB't /f]8 ldgf l;Ub]n sf] 3/b]vL k'j{ 

%)ld lk= lk= l;= ;lxt @))ld= af6f] 

u|fa]n ug{ . 

        
200,000  

  
~f= r6f/ :yLt afu]Zj/L P]s]8]dL b]vL 

euf}tL yf?sf] 3/ x'b} l;S6f gx/ ;Dd 

sl/a ! ls= ld= af6f] u|fa]n ug{ .  

        
500,000    

6=jfu]Zj/L 6f]nsf] rf]s b]lv lj6 g+=! 

;Ddsf] kSsL 9n lgdf{0f 

        
500,000    

7=lzjgu/df sNe6{ lgdf0f{ ug{ .  

       
400,000    

8= sflnsfgu/ lx/f]s[i0f 3/af6 zfGtL 

zfxL sf] 3/ ;Dd af6f] u|fe]n ug{  
        

200,000    
9= lqj]0fL rf]s r6f/b]vL Pstfgu/ 

;Ddsf] af6f] u|fa]n / gfnf lgdf0f{ ug{ .  

       
400,000    



0f= /fwfs[i0f k|ltIffno b]vL cDd/ zfxLsf] 

3/ ;Ddsf] af6f] u|fa]n ug{ . 

        
200,000  

 t= d'lvof yf?sf]] 3/b]vL b'v/fd yf?sf] 

3/;Ddsf] af6f] u|fe]n ug{ .  

        
150,000    

y= ljBfgu/ k'ik lu/Lsf] 3/sf] af6f] / ;f] 

eGbf dflyNnf] af6f]sf] u|fa]n ug{ .  
        

200,000    
b=uf]df zflxsf] 3/b]vL bfxfnsf] 3/ ;Dd 

hf]8g] af6f] sfnf]kq] .  

        
300,000    

3= gd:t] g]kfnsf] sfof{no hfg] af6f] 

u|fa]n ug{ .  

        
100,000    

g=ch'{g ;/sf] 3/ hfg]] af6f] u|fa]n ug{ .          
100,000    

k= 8fOgflds sn]h b]vL afu]Zj/L 

af]l8ª;Dd hfg] af6f] u|fa]n ug{ .  

        
100,000    

  

km e08f/Lsf] b]vL s';'dsf] 3/;Dd hfg] 

af6f] u|fa]n ug{ .  

        
100,000    

  

a=laBfgu/sf] jfu]Zj/L 6f]nsf] kSsL 

af6f]sf] gfnL lgdf{0f 

        
700,000    

  
e= dd{t ;+ef/ tyf hu]8f sf]if         

866,800    
  

d=lj/f6 vfg]kfgL         
200,000    

hDdf 
    7,316,800    

 


